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B sz BRE S out IN GROSS | HDCP NET
[RioAE:if= T b4 40 38 18 16.0/ 62.0
206z i 1E 43 41 84, 21.00 63.0
3| ik EfER 40 4] 817 23.00  64.0
AL SH B 37 43 80 16.0/ 64.0
SGr|fE = 45 42 817 22.00  65.0
66 Fx St 43 43 86/ 20.00 66.0
L3 XX 44 44 88 21.0) 67.0
8 P Eth 45 44 89 2200 67.0
oI BE MF 43 46 89 2200 67.0

106L 8 A 42 46 88  21.0) 67.0
[RRCAVAY S 42 90 92 25.00 67.0
1261 | HR XER 48 40 88 19.0/  69.0
13| KB & 46 41 817 18.0/ 69.0
[EAUAE - & N 49 45 94/  25.00 69.0
(IR Y= 45 44 89 20.00 69.0
1667 B =5 43 42 85 16.0/ 69.0
[AD ALV S =3 417 46 93] 24.00 69.0
186 KPa  4FiE 41 43 84 15.00  69.0
1941 | 2H  Fif 43 48 91 22.00  69.0
204 | ¥ FROR 45 41 86 16.0/ 70.0
2161 =88 RS 45 43 88 18.0/ 70.0
224z luB 1EF] 43 44 817 17.0/ 70.0
2| —K X 48 49 97 27.0, 70.0
2861 RER A 417 49 96| 26.00 70.0
254 \hn#k  SEER 49 47 96| 25.00 71.0
2661 1IER AE 46 45 91 20.00 71.0
2L K BR 43 45 88 17.00  71.0
2861 B A=F 45 43 88 16.0/ 72.0
29 I AEF 44 44 88 16.0/ 72.0
0| hE  HE=E 49 95 104 32.0) 72.0
S BIRA F= 47 41 88 15.00 73.0
M| EHR X 46 45 91 18.0/ 73.0
3L | B B 93 44 97 23.00 740
AL LE FE 41 44 91 17.0/ 74.0
35fi AL HFH 45 44 89 15.00 74.0
361 LR R 50 42 92 17.0/ 75.0
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I 5z BEA ouT IN GROSS | HDCP NET
ML B5H AR 48 43 91 16.0 75.0
3B | FER RiE 47 44 91 16.0 75.0
3L | FEH  E— 47 46 93 18.0 75.0
406U Ak b1 44 95 19.0 76.0
ML EsE #B— b5 b5 110 34.0 76.0
261 mO —1& 46 49 95 19.0 76.0
4361 | Tk IR 46 53 99 22.0 71.0
il ZZ 53 46 99 20.0 719.0
4541 A RIE 47 49 96 17.0 79.0
4647 | RE 53 54 107 24.0 83.0
414 |#REE RRE 61 53 114 30.0 84.0
A3 1A RE b8 45 103 18.0 85.0
4947 EH EHE 56 56 112 16.0 96.0

N REH &= 0| -99.9 99.9
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